Additional Questions in Financial Reporting
Ind AS 1 Presentation of Financial Statements
Question 1.
Is offsetting permitted under the following circumstances?

(a) Expenses incurred by a holding company on behalf of subsidiary, which is reimbursed by the subsidiary -
whether in the separate books of the holding company, the expenditure and related reimbursement of
expenses can be offset?

(b) Whether profit on sale of an asset against loss on sale of another asset can be offset?

(c) When services are rendered in a transaction with an entity and services are received from the same entity in
two different arrangements, can the receivable and payable be offset?

Ind AS 34 Interim Financial Reporting
Question 2.

An entity’s accounting year ends is 31st December, but its tax year end is 31st March. The entity publishes an
interim financial report for each quarter of the year ended 31st December, 2019. The entity’s profit before tax is
steady at 10,000 each quarter, and the estimated effective tax rate is 25% for the year ended 31st March, 2019
and 30% for the year ended 31st March, 2020.

How the related tax charge would be calculated for the year 2019 and its quarters.
Ind AS 7 Statement of Cash Flows
Question 3.

During the financial year 2019-2020, Akola Limited have paid various taxes & reproduced the below mentioned
records for your perusal:

- Capital gain tax of 20 crore on sale of office premises at a sale consideration of X100 crore.

- Income Tax of X3 crore on Business profits amounting X30 crore (assume entire business profit as cash profit).
- Dividend Distribution Tax of X2 crore on payment of dividend amounting X20 crore to its shareholders.

- Income tax Refund of 1.5 crore (Refund on taxes paid in earlier periods for business profits).

You need to determine the net cash flow from operating activities, investing activities and financing activities of
Akola Limited as per relevant Ind AS.

Question 4.

From the following data of Galaxy Ltd., prepare statement of cash flows showing cash generated from Operating
Activities using direct method as per Ind AS 7:

31.3.20X2 ) | 31.3.20X1 ()
Current Assets:
Inventory 1,20,000 1,65,000
Trade receivables 2,05,000 1,88,000
Cash & cash equivalents 35,000 20,500
Current Liabilities:
Trade payable 1,95,000 2,15,000
Provision for tax 48,000 65,000
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Summary of Statement of Profit and Loss
4
Sales 85,50,000
Less: Cost of sales (56,00,000) |  29,50,000
Other Income
Interest income 20,000
Fire insurance claim received 1,10,000 1,30,000
30,80,000
Depreciation (24,000)
Administrative and selling expenses (15,40,000)
Interest expenses (36,000)
Foreign exchange loss (18,000) | (16,18,000)
Net Profit before tax and extraordinary income 14,62,000
Income Tax (95,000)
Net Profit 13,67,000

Additional information:
(i) Trade receivables and Trade payables include amounts relating to credit sale and credit purchase only.

(i) Foreign exchange loss represents increment in liability of a long-term borrowing due to exchange rate
fluctuation between acquisition date and balance sheet date.

Ind AS 8 Accounting Policies, Changes in Accounting Estimates and Errors
Question 5.

During 20X4-X5, Cheery Limited discovered that some products that had been sold during 20X3-X4 were
incorrectly included in inventory at 31st March, 20X4 at 6,500.

Cheery Limited’s accounting records for 20X4-X5 show sales of 104,000, cost of goods sold of 86,500
(including 6,500 for the error in opening inventory), and income taxes of X5,250.

In 20X3-X4, Cheery Limited reported:

£
Sales 73,500
Cost of goods sold (53,500)
Profit before income taxes 20,000
Income taxes (6,000)
Profit 14,000
Basic and diluted EPS 2.8

The 20X3-X4 opening retained earnings was 320,000 and closing retained earnings was X34,000. Cheery Limited’s
income tax rate was 30% for 20X4-X5 and 20X3-X4. It had no other income or expenses.

Cheery Limited had 350,000 (5,000 shares of 10 each) of share capital throughout, and no other components of
equity except for retained earnings.

State how the above will be treated /accounted in Cheery Limited’s Statement of profit and loss, statement of
changes in equity and in notes wherever required for current period and earlier period(s) as per relevant Ind AS.
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Question 6.

In 20X3-20X4, after the entity’s 31 March 20X3 annual financial statements were approved for issue, a latent
defect in the composition of a new product manufactured by the entity was discovered (that is, a defect that could
not be discovered by reasonable or customary inspection). As a result of the latent defect the entity incurred
100,000 in unanticipated costs for fulfilling its warranty obligation in respect of sales made before 31 March
20X3. An additional ¥20,000 was incurred to rectify the latent defect in products sold during 20X3-20X4 before
the defect was detected and the production process rectified, 5,000 of which relates to items of inventory at 31
March 20X3. The defective inventory was reported at cost X15,000 in the 20X2-20X3 financial statements when
its selling price less costs to complete and sell was estimated at X18,000. The accounting estimates made in
preparing the 31 March 20X3 financial statements were appropriately made using all reliable information that the
entity could reasonably be expected to have been obtained and taken into account in the preparation and
presentation of those financial statements.

Analyse the above situation in accordance with relevant Ind AS.
Ind AS 113 Fair Value Measurement
Question 7.

On 1st January, 20X1, A Ltd assumes a decommissioning liability in a business combination. The reporting entity
is legally required to dismantle and remove an offshore oil platform at the end of its useful life, which is estimated
to be 10 years. The following information is relevant:

If A Ltd was contractually allowed to transfer its decommissioning liability to a market participant, it concludes
that a market participant would use all of the following inputs, probability weighted as appropriate, when
estimating the price it would expect to receive:

a. Labour costs

Labour costs are developed based on current marketplace wages, adjusted for expectations of future wage
increases, required to hire contractors to dismantle and remove offshore oil platforms. A Ltd. assigns
probability to a range of cash flow estimates as follows:

Cash Flow Estimates: 100 Cr 125 Cr 175 Cr
Probability: 25% 50% 25%

b. Allocation of overhead costs:
Assigned at 80% of labour cost

c. The compensation that a market participant would require for undertaking the activity and for assuming the
risk associated with the obligation to dismantle and remove the asset. Such compensation includes both of the
following:

i.  Profit on labour and overhead costs:

A profit mark-up of 20% is consistent with the rate that a market participant would require as
compensation for undertaking the activity

ii. The risk that the actual cash outflows might differ from those expected, excluding inflation:

A Ltd. estimates the amount of that premium to be 5% of the expected cash flows. The expected cash
flows are ‘real cash flows’ / ‘cash flows in terms of monetary value today’.

d. Effect of inflation on estimated costs and profits
A Ltd. assumes a rate of inflation of 4 percent over the 10-year period based on available market data.
e. Time value of money, represented by the risk-free rate: 5%

f. Non-performance risk relating to the risk that Entity A will not fulfill the obligation, including A Ltd.’s own
credit risk: 3.5%

A Ltd, concludes that its assumptions would be used by market participants. In addition, A Ltd. does not adjust
its fair value measurement for the existence of a restriction preventing it from transferring the liability.

You are required to calculate the fair value of the asset retirement obligation.
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Question 8.

(i) Entity A owns 250 ordinary shares in company XYZ, an unquoted company. Company XYZ has a total share
capital of 5,000 shares with nominal value of X10. Entity XYZ’s after-tax maintainable profits are estimated at
X70,000 per yeat. An appropriate price/earnings ratio determined from published industry data is 15 (before
lack of marketability adjustment). Entity A’s management estimates that the discount for the lack of
marketability of company XYZ’s shares and restrictions on their transfer is 20%. Entity A values its holding
in company XYZ’s shares based on earnings. Determine the fair value of Entity A’s investment in XYZ’s
shares.

(ii) Based on the facts given in the aforementioned part (i), assume that, Entity A estimates the fair value of the
shares it owns in company XYZ using a net asset valuation technique. The fair value of company XYZ’s net
assets including those recognised in its balance sheet and those that are not recognised is X8,50,000. Determine
the fair value of Entity A’s investment in XYZ’s shares.

Ind AS 20 Accounting for Government Grants and Disclosure of Government Assistance
Question 9.

Entity A is awarded a government grant of 60,000 receivable over three years (40,000 in year 1 and 10,000 in
each of years 2 and 3), contingent on creating 10 new jobs and maintaining them for three years. The employees
are recruited at a total cost of ¥30,000, and the wage bill for the first year is ¥1,00,000, rising by 10,000 in each
of the subsequent years. Calculate the grant income and deferred income to be accounted for in the books for
year 1,2 and 3.

Ind AS 2 Inventories
Question 10.
On 1 January 20X1 an entity accepted an order for 7,000 custom-made corporate gifts.

On 3 January 20X1 the entity purchased raw materials to be consumed in the production process for X5,50,000,
including ¥50,000 refundable purchase taxes. The purchase price was funded by raising a loan of X5,55,000
(including 5,000 loan-raising fees). The loan is secured by the inventories.

During January 20X1 the entity designed the corporate gifts for the customer.
Design costs included:

* cost of external designer = X7,000; and

e labour = %3,000.

During February 20X1 the entity’s production team developed the manufacturing technique and made further
modifications necessary to bring the inventories to the conditions specified in the agreement. The following costs
were incurred in the testing phase:

¢ materials, net of X3,000 recovered from the sale of the scrapped output = 321,000
e labour = %11,000; and
* depreciation of plant used to perform the modifications = %5,000.

During February 20X1 the entity incurred the following additional costs in manufacturing the customised
corporate gifts:

e consumable stores = ¥55,000;
e labour = %65,000; and
* depreciation of plant used to manufacture the customised corporate gifts = I15,000.

The customised corporate gifts were ready for sale on 1 March 20X1. No abnormal wastage occurred in the
development and manufacture of the corporate gifts.

Compute the cost of the inventory? Substantiate your answer with appropriate reasons and calculations, wherever
required.
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Ind AS 16 Property, Plant and Equipment
Question 11.

Company X performed a revaluation of all of its plant and machinery at the beginning of 20X1. The following
information relates to one of the machinery:

Amount (‘000)
Gross carrying amount %200
Accumulated depreciation (straight-line method) R80)
Net carrying amount 2120
Fair value %150

The useful life of the machinery is 10 years and the company uses Straight line method of depreciation. The
revaluation was performed at the end of 4 years.

How should the Company account for revaluation of plant and machinery and depreciation subsequent to
revaluation? Support your answer with journal entries.

Question 12.

An entity has the following items of property, plant and equipment:

* Property A — a vacant plot of land on which it intends to construct its new administration headquarters;
* Property B— a plot of land that it operates as a landfill site;

e Property C — a plot of land on which its existing administration headquarters are built;

* Property D — a plot of land on which its direct sales office is built;

e Properties E1-E10 — ten separate retail outlets and the land on which they are built;

¢ Equipment A — computer systems at its headquarters and direct sales office that are integrated with the point
of sale computer systems in the retail outlets;

* Equipment B — point of sale computer systems in each of its retail outlets;
¢ Furniture and fittings in its administrative headquarters and its sales office;
e Shop fixtures and fittings in its retail outlets.

How many classes of property, plant and equipment must the entity disclose?
Question 13.

Heaven Ltd. had purchased a machinery on 1.4.2X01 for X30,00,000, which is reflected in its books at written
down value of X17,50,000 on 1.4.2X06. The company has estimated an upward revaluation of 10% on 1.4.2X06
to arrive at the fair value of the asset. Heaven Ltd. availed the option given by Ind AS of transferring some of the
surplus as the asset is used by an enterprise.

On 1.4.2X08, the machinery was revalued downward by 15% and the company also re-estimated the machinery’s
remaining life to be 8 years. On 31.3.2X10 the machinery was sold for 39,35,000. The company charges
depreciation on straight line method.

Prepare machinery account in the books of Heaven Ltd. over its useful life to record the above transactions.
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Ind AS 116 Leases
Question 14.

Entity X (lessee) entered into a lease agreement (‘lease agreement’) with Entity Y (lessor) to lease an entire floor
of a shopping mall for a period of 9 years. The annual lease rent of X70,000 is payable at year end. To carry out its
operations smoothly, Entity X simultaneously entered into another agreement (‘facilities agreement’) with Entity
Y for using certain other facilities owned by Entity Y such as passenger lifts, DG sets, power supply infrastructure,
parking space etc., which are specifically mentioned in the agreement, for annual service charges amounting to
%1,00,000. As per the agreement, the ownership of the facilities shall remain with Entity Y. Lessee's incremental
borrowing rate is 10%.

The facilities agreement clearly specifies that it shall be co-existent and coterminous with ‘lease agreement’. The
facility agreement shall stand terminated automatically on termination or expiry of ‘lease agreement’.

Entity X has assessed that the stand-alone price of ‘lease agreement’ is X1,20,000 per year and stand-alone price
of the ‘facilities agreement’ is X80,000 per year. Entity X has not elected to apply the practical expedient in
paragraph 15 of Ind AS 116 of not to separate non-lease component(s) from lease component(s) and accordingly
it separates non-lease components from lease components.

How will Entity X account for lease liability as at the commencement date?
Question 15.

Entity X is an Indian entity whose functional currency is Indian Rupee. It has taken a plant on lease from Entity
Y for 5 years to use in its manufacturing process for which it has to pay annual rentals in arrears of USD 10,000
every year. On the commencement date, exchange rate was USD = Rs. 68. The average rate for Year 1 was Rs.
69 and at the end of year 1, the exchange rate was Rs. 70. The incremental borrowing rate of Entity X on
commencement of the lease for a USD borrowing was 5% p.a.

How will entity X measure the right of use (ROU) asset and lease liability initially and at the end of Year 1?
Ind AS 23 Borrowing Costs
Question 16.

How will you capitalise the interest when qualifying assets are funded by borrowings in the nature of bonds that
are issued at discount?

Y Ltd. issued at the start of year 1, 10% (interest paid annually and having maturity period of 4 years) bonds with
a face value of X2,00,000 at a discount of 10% to finance a qualifying asset which is ready for intended use at the
end of year 2.

Compute the amount of borrowing costs to be capitalized if the company amortizes discount using Effective
Interest Rate method by applying 13.39% p.a. of EIR.

Question 17.

Nikka Limited has obtained a term loan of X620 lacs for a complete renovation and modernisation of its Factory
on 1st April, 20X1. Plant and Machinery was acquired under the modernisation scheme and installation was
completed on 30th April, 20X2. An expenditure of X510 lacs was incurred on installation of Plant and Machinery,
%54 lacs has been advanced to suppliers for additional assets (acquired on 25th April, 20X1) which were also
installed on 30th April, 20X2 and the balance loan of X56 lacs has been used for working capital purposes.
Management of Nikka Limited considers the 12 months period as substantial period of time to get the asset ready
for its intended use.

The company has paid total interest of X068.20 lacs during financial year 20X1-20X2 on the above loan. The
accountant seeks your advice how to account for the interest paid in the books of accounts. Will your answer be
different, if the whole process of renovation and modernization gets completed by 28th February, 20X2?
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Ind AS 40 Investment Property
Question 18.

X Ltd owned a land property whose future use was not determined as at 31 March 20X1. How should the property
be classified in the books of X Ltd as at 31 March 20X1?

During June 20X1, X Ltd commenced construction of office building on it for own use. Presuming that the
construction of the office building will still be in progress as at 31 March 20X2

(@) How should the land property be classified by X Ltd in its financial statements as at 31 March 20X2?

(b) Will there be a change in the carrying amount of the property resulting from any change in use of the
investment property?

(c) Whether the change in classification to, or from, investment properties is a change in accounting policy to be
accounted for in accordance with Ind AS 8, Accounting Policies, Changes in Accounting Estimates and
Errors?

(d) Would your answer to (a) above be different if there were to be a management intention to commence

construction of an office building for own use; however, no construction activity was planned by 31 March
20X2?

Ind AS 41 Agriculture
Question 19.

Entity A purchased cattle at an auction on 30th June 20X1

Purchase price at 30th June 20X1 %1,00,000
Costs of transporting the cattle back to the entity’s farm 31,000
Sales price of the cattle at 31st March, 20X2 %1,10,000

The company would have to incur similar transportation costs if it were to sell the cattle at auction, in addition to
an auctioneer’s fee of 2% of sales price. The auctioneer charges 2% of the selling price, from both, the buyer as
well as the seller.

Calculate the amount at which cattle is to be recognised in books on initial recognition and at year end 31st March,
20X2.

Question 20.

On 1st November, 20X1, C Agro Ltd. purchased 100 goats of special breed from a market for X10,00,000 with a
transaction cost of 2%. Goats fair value decreased from 310,00,000 to 39,00,000 as on 31st March, 20X2.

Determine the fair value on the date of purchase and as on financial year ended 31st March, 20X2 under both the
cases Vviz-

(i) the transaction costs are borne by the seller and

(i) the transaction costs are incurred by the seller and purchaser both.

Also pass journal entries under both the situations on both dates.

Question 21.

Analyse whether the following activities fall within the scope of Ind AS 41 with proper reasoning:
e Managing animal-related recreational activities like Zoo

e [Fishing in the ocean

e Tish farming

e Development of living organisms such as cells, bacteria and viruses

e Growing of plants to be used in the production of drugs

e Purchase of 25 dogs for security purpose of the company’s premises.
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Ind AS 12 Income Taxes
Question 22.

On 1 January 2020, entity H acquired 100% share capital of entity S for X15,00,000. The book values and the fair
values of the identifiable assets and liabilities of entity S at the date of acquisition are set out below, together with
their tax bases in entity S’s tax jurisdictions. Any goodwill arising on the acquisition is not deductible for tax
purposes. The tax rates in entity H’s and entity S’s jurisdictions are 30% and 40% respectively.

Acquisitions Book values Tax base Fair values

2000 2000 2000
Land and buildings 600 500 700
Property, plant and equipment 250 200 270
Inventory 100 100 80
Accounts receivable 150 150 150
Cash and cash equivalents 130 130 130
Accounts payable (160) (160) (160)
Retirement benefit obligations (100) - (100)

You are required to calculate the deferred tax arising on acquisition of Entity S. Also calculate the Goodwill arising
on acquisition.

Ind AS 21 The Effects of changes in Foreign Exchange Rates
Question 23.

Global Limited, an Indian company acquired on 30th September, 20X1 70% of the share capital of Mark Limited,
an entity registered as company in Germany. The functional currency of Global Limited is Rupees and its financial
year end is 31st March, 20X2.

(i) The fair value of the net assets of Mark Limited was 23 million EURO and the purchase consideration paid is
17.5 million EURO on 30th September, 20X1.

The exchange rates as at 30th September, 20X 1 was I82 / EURO and at 31st March, 20X2 was ¥84 / EURO.

What is the value at which the goodwill has to be recognised in the financial statements of Global Limited as
on 31st March, 20X2?

(il) Mark Limited sold goods costing 2.4 million EURO to Global Limited for 4.2 million EURO during the year
ended 31st March, 20X2. The exchange rate on the date of purchase by Global Limited was 383 / EURO and
on 31st March, 20X2 was 384 / EURO. The entite goods purchased from Mark Limited are unsold as on 31st
March, 20X2. Determine the unrealised profit to be eliminated in the preparation of consolidated financial
statements.

Question 24.

On 1st April, 20X1, Makers Ltd. raised a long term loan from foreign investors. The investors subscribed for 6
million Foreign Currency (FCY) loan notes at par. It incurred incremental issue costs of FCY 2,00,000. Interest
of FCY 6,00,000 is payable annually on 31st March, starting from 31st March, 20X2. The loan is repayable in FCY
on 31st March, 20X7 at a premium and the effective annual interest rate implicit in the loan is 12%. The
appropriate measurement basis for this loan is amortised cost. Relevant exchange rates are as follows:

- 1st April, 20X1 - FCY 1 = R2.50.
- 31st March, 20X2 — FCY 1 =R2.75.

- Average rate for the year ended 31st Match, 20X2 — FCY 1 = %2.42. The functional currency of the group is
Indian Rupee.

What would be the appropriate accounting treatment for the foreign currency loan in the books of Makers Ltd.
for the FY 20X1-20X2? Calculate the initial measurement amount for the loan, finance cost for the year, closing
balance and exchange gain / loss.

Page 8 of 14



Ind AS 33 Earnings Per Share
Question 25.

CAB Limited is in the process of preparation of the consolidated financial statements of the group for the year
ending 31st March, 20X3 and the extract of the same is as follows:

Particulars Attributable to Non-controlling Total

CAB Limited interest R in ‘000)
Profit for the year 39,000 3,000 42,000
Other Comprehensive Income 5,000 Nil 5,000
Total Comprehensive Income 44,000 3,000 47,000

The long-term finance of the company comprises of the following:

i) 20,00,00,000 equity shares at the beginning of the year and the company has issued 5,00,00,000 shares on 1st
July, 20X2 at full market value.

(i) 8,00,00,000 irredeemable preference shares. These shares were in issue for the whole of the year ended 31st
March, 20X3. The dividend on these preference shares is discretionary.

(iii) 18 crores of 6% convertible debentures issued on 1st April, 20X1 and repayable on 31st March, 20X5 at
par. Interest is payable annually. As an alternative to repayment at par, the holder on maturity can elect to
exchange their convertible debentures for 10 crores ordinary shares in the company. On 1st April, 20X1, the
prevailing market interest rate for four-year convertible debentures which had no right of conversion was 8%.
Using an annual discount rate of 8%, the present value of X1 payable in four years is 0.74 and the cumulative
present value of X1 payable at the end of years one to four is 3.31.

In the year ended 31st March, 20X3, CAB Limited declared an ordinary dividend of 0.10 paise per share and
a dividend of 0.05 paise per share on the irredeemable preference shares.

Compute the following:

 the finance cost of convertible debentures and its closing balance as on 31st March, 20X3 to be presented in
the consolidated financial statements.

* the basic and diluted earnings per share for the year ended 31st March, 20X3.
Assume that income tax is applicable to CAB Limited and its subsidiaries at 25%.
Accounting and Reporting of Financial Instruments

Question 26.

On 1 April 20X1, Sun Limited guarantees a X10,00,000 loan of Subsidiary — Moon Limited, which Bank STDK
has provided to Moon Limited for three years at 8%.

Interest payments are made at the end of each year and the principal is repaid at the end of the loan term.

If Sun Limited had not issued a guarantee, Bank STDK would have charged Moon Limited an interest rate of
11%. Sun Limited does not charge Moon Limited for providing the guarantee.

On 31 March 20X2, there is 1% probability that Moon Limited may default on the loan in the next 12 months. If
Moon Limited defaults on the loan, Sun Limited does not expect to recover any amount from Moon Limited.

On 31 March 20X3, there is 3% probability that Moon Limited may default on the loan in the next 12 months. If
Moon Limited defaults on the loan, Sun Limited does not expect to recover any amount from Moon Limited.

Provide the accounting treatment of financial guarantee as per Ind AS 109 in the books of Sun Ltd., on initial
recognition and in subsequent periods till 31 March 20X3.
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Business Combination and Corporate Restructuring
Question 27.
Company X is engaged in the business of exploration & development of Oil & Gas Blocks.

Company X currently holds participating interest (PI) in below mentioned producing Block as follows:

Block Name Company X Company Y Company Z Total
AWM/01 30% 60% 10% 100%

For the above Block, Company X, Y & Z has entered into unincorporated Joint Venture.

Company Y is the Operator of the Block AWM/01. Company X & Company Z ate the Joint Operators. Company
Y incurs all the expenditure on behalf of Joint Venture and raise cash call to Company X & Company Z at each
month end in respect of their share of expenditure incurred in Joint Venture. All the manpower and requisite
facilities / machineries owned by the Joint ventute and thereby owned by all the Joint Operators.

For past few months, due to liquidity issues, Company Z defaulted in payment of cash calls to operators.
Therefore, company Y (Operator) has issued notice to company Z for withdrawal of their participating right from
on 01.04.20X1. However, company Z has filed the appeal with arbitrator on 30.04.20X1.

Financial performance of company Z has not been improved in subsequent months and therefore company Z
has decided to withdraw participating interest rights from Block AWM/01 and entered into sale agreement with
Company X & Company Y. As per the terms of the agreement, dated 31.5.20X1, Company X will receive 33.33%
share & Company Y will receive 66.67% share of PI rights owned by Company Z.

Company X is required to pay X1 Lacs against 33.33% share of PI rights owned by Company Z.

After signing of sale agreement, Operator (company Y) approach government of India for modification in PSC
(Production Sharing Contract) i.e. removal of Company Z from PSC of AWM/01 and government has approved
this transaction on 30.6.20X1. Government approval for the modification in PSC is essential given the industry in
which the joint operators operate.

Balance sheet of Company X & Company Z are as follows:

Particulars Company X Company Z

31.5.20X1 | 30.6.20X1 | 31.5.20X1 | 30.6.20X1
(4 04 (4 04

Assets

Non-Current Assets

Property, Plant & Equipment 5,00,000 | 10,00,000 1,50,000 |  3,00,000

Right of Use Asset 1,00,000 | 2,00,000 10,000 20,000

Development CWIP 50,000 1,00,000 50,000 1,00,000

Financial Assets

Loan receivable 25,000 50,000 25,000 50,000

Total Non-Current Assets 6,75,000 | 13,50.000 | 235,000 | 4.,70,000

Current assets

Inventories 1,00,000 | 2,00,000 15,000 30,000

Financial Assets

Trade receivables 1,50,000 3,00,000 50,000 1,00,000

Cash and cash equivalents 2,00,000 | 4,00,000 1,00,000 | 2,00,000

Other Current Assets 2.25.000 50,000 25,000 50,000

Total Current Assets 6,75,000 9,50,000 1,90,000 | 3.80,000

Total Assets 13,50,000 | 23.00,000 4,25,000 8,50,000

Equity and Liabilities

Equity

Equity share capital 3,00,000 3,00,000 1,00,000 1,00,000

Other equity 2,00,000 3,00,000 75,000 | 2.,50,000

Total Equity 5,00,000 6,00,000 1,75,000 | 3.50,000

Liabilities

Non-Current Liabilities
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Provisions 4,00,000 8,00,000 1,00,000 | 2,00,000
Other Liabilities 1,50,000 3,00,000 50,000 1,00,000
Total Non-Current Liabilities 5,50,000 | 11.00,000 1,50,000 3,00,000
Current Liabilities

Financial Liabilities

Trade Payables 3,00,000 6,00,000 1,00,000 | 2,00,000
Total Current Liabilities 3,00,000 6,00,000 1,00,000 | 2,00,000
Total Liabilities 13,50,000 | 23,00,000 | 4,25,000 8,50,000

Additional Information:

1. Fair Value of PPE & Development CWIP owned by Company Z as per Market participant approach is
5,00,000 & %2,00,000 respectively.

2. Fair Value of all the other assets and liabilities acquired are assumed to be at their carrying values (except cash

& cash equivalent). Cash and cash equivalents of Company Z are not to be acquired by Company X as per the
terms of agreement.

Tax rate is assumed to be 30%.

4. As per Ind AS 28, all the joint operators are joint ventures whereby each parties that have joint control of the
arrangement have rights to the net assets of the arrangement and therefore every operator records their share
of assets and liabilities in their books.

You need to determine the following:

1. Whether the above acquisition falls under business or asset acquisition as defined under business combination
standard Ind AS 103?

2. Determine the acquisition date in the above transaction?

3. Prepare Journal entries for the above-mentioned transaction?

4. Draft the Balance Sheet for Company X based on your analysis in Part 1 above as at acquisition date.
Consolidated and Separate Financial Statements of Group Entities

Question 28.

On 1st April 2019, Investor Ltd. acquires 35% interest in another entity, XYZ Ltd. Investor Ltd. determines that
it is able to exercise significant influence over XYZ Ltd. Investor Ltd. has paid total consideration of X47,50,000
for acquisition of its interest in XYZ Ltd. At the date of acquisition, the book value of XYZ Ltd.’s net assets was
290,00,000 and their fair value was %1,10,00,000. Investor Ltd. has determined that the difference of 320,00,000
pertains to an item of property, plant and equipment (PPE) which has remaining useful life of 10 years.

During the year, XYZ Ltd. made a profit of %8,00,000. XYZ Ltd. paid a dividend of X12,00,000 on 31st March,
2020. XYZ Ltd. also holds a long-term investment in equity securities. Under Ind AS, investment is classified as
at FVTOCI in accordance with Ind AS 109 and XYZ Ltd. recognized an increase in value of investment by
%2,00,000 in OCI during the year. Ignore deferred tax implications, if any.

Calculate the closing balance of Investor Ltd.’s investment in XYZ Ltd. as at 31st March, 2020 as per the relevant
Ind AS.

Question 29.

On 1st April 20X1 Alpha Ltd. commenced joint construction of a property with Gama Ltd. For this purpose, an
agreement has been entered into that provides for joint operation and ownership of the property. All the ongoing
expenditure, comprising maintenance plus borrowing costs, is to be shared equally. The construction was
completed on 30th September 20X1 and utilisation of the property started on 1st January 20X2 at which time the
estimated useful life of the same was estimated to be 20 years.

Total cost of the construction of the property was 40 crores. Besides internal accruals, the cost was partly funded
by way of loan of 10 crores taken on 1st January 20X1. The loan carries interest at an annual rate of 10% with
interest payable at the end of year on 31st December each year. The company has spent X4,00,000 on the
maintenance of such property.

The company has recorded the entire amount paid as investment in Joint Venture in the books of accounts.
Suggest the suitable accounting treatment of the above transaction as per applicable Ind AS.
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Question 30.

Gamma Limited, a parent company, is engaged in manufacturing and retail activities. The group holds investments
in different entities as follows:

*  Gamma Limited holds 100% Investment in G Limited and D Limited;
* G Limited and D Limited hold 60% and 40% in GD Limited respectively;
*  Delta Limited is a 100% subsidiary of GD Limited

Firstly, Gamma Limited wants you to suggest whether GD Limited can avail the exemption from the preparation
and presentation of consolidated financial statements as per applicable Ind AS?

Secondly, if all other facts remain the same as above except that G Limited and D Limited are both owned by an
Individual (say, Mr. X) instead of Gamma Limited, then explain whether GD Limited can avail the exemption

from the preparation and presentation of consolidated financial statements.
Analysis of Financial Statements

Question 31.

Master Creator Private Limited (a subsidiary of listed company) is an Indian company to whom Ind AS are
applicable. Following draft balance sheet is prepared by the accountant for year ending 31st March 20X2.

Balance Sheet of Master Creator Private Limited as at 31st March, 20X2
Particulars 4
ASSETS
Non-current assets
Property, plant and equipment 85,37,500
Financial assets
Other financial assets (Security deposits) 4,62,500
Other non-current assets (capital advances) 17,33,480
Deferred tax assets 2,54,150
Current assets
Trade receivables 7,25,000
Inventories 5,98,050
Financial assets
Investments 55,000
Other financial assets 2,17.370
Cash and cash equivalents 1,16,950
TOTAL ASSETS 1,27,00,000
EQUITY AND LIABILITIES
Equity share capital 10,00,000
Non-current liabilities
Other Equity 25,00,150
Deferred tax liability 4,74,850
Borrowings 64,00,000
Long term provisions 5,24,436
Current liabilities
Financial liabilities
Other financial liabilities 2,00,564
Trade payables 6,69,180
Current tax liabilities 9.30,820
TOTAL EQUITY AND LIABILITIES 1,27,00,000

Additional Information:

1. On 1st April 20X1, 8% convertible loan with a nominal value of X64,00,000 was issued by the entity. It is
redeemable on 31st March 20X5 also at par. Alternatively, it may be converted into equity shares on the basis

of 100 new shares for each 2200 worth of loan.

Page 12 of 14




10.

11.
12.

An equivalent loan without the conversion option would have carried interest at 10%. Interest of X5,12,000
has already been paid and included as a finance cost.

Present Value (PV) rates are as follows:

Year End @ 8% | @ 10%
1 0.93 0.91
2 0.86 0.83
3 0.79 0.75
4 0.73 0.68

After the reporting period, the board of directors have recommended dividend of 50,000 for the year ending
31st March, 20X1. However, the same has not been yet accounted by the company in its financials.

‘Other current financial liabilities” consists of the following:

Particulars Amount ()
Wages payable 21,890
Salary payable 61,845
TDS payable 81,265
Interest accrued on trade payables 35,564

Property, Plant and Equipment consists following items:

Particulars | Amount () | Remarks

Building 37,50,250 It is held for administration purposes

Land 15,48,150 It is held for capital appreciation

Vehicles 12,37,500 These are used as the conveyance for employees

Factory 20,01,600 The construction was started on 31st March 20X2 and consequently no

premises depreciation has been charged on it. The construction activities will continue
to happen, and it will take 2 years to complete and be available for use.

The composition of ‘other current financial assets’ is as follows:

Particulars Amount (F)
Interest accrued on bank deposits 57,720
Prepaid expenses 90,000
Royalty receivable from dealers 69,650

Current Investments consist of securities held for trading which are carried at fair value through profit & loss.
Investments were purchased on 1st January,20X2 at ¥55,000 and accordingly are shown at cost as at 31st
March 20X2. The fair value of said investments as on 31st March 20X2 is 60,000.

Trade payables and Trade receivables are due within 12 months.
There has been no changes in equity share capital during the year.

Entity has the intention to set off a deferred tax asset against a deferred tax liability as they relate to income
taxes levied by the same taxation authority and the entity has a legally enforceable right to set off taxes.

Other Equity consists retained earnings only. The opening balance of retained earnings was 321,25,975 as at
1st April 20X1.

No dividend has been actually paid by company during the year.

Assume that the deferred tax impact, if any on account of above adjustments is correctly calculated in
financials.

Being Finance & Accounts manager, you are required to identify the errors and misstatements if any in the balance
sheet of Master Creator Private Limited and prepare corrected balance sheet with details on the face of the balance
sheet i.e. no need to prepare notes to accounts, after considering the additional information. Provide necessary
explanations/workings for the treated items, wherever necessary.
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Question 32.

HIM Limited having net worth of X250 crores is required to adopt Ind AS from 1st April, 20X2 in accordance
with the Companies (Indian Accounting Standard) Rules 2015.

Rahul, the senior manager, of HIM Ltd. has identified following issues which need specific attention of CFO so
that opening Ind AS balance sheet as on the date of transition can be prepared:

Issue 1: As part of Property, Plant and Equipment, Company has elected to measure land at its fair value and
want to use this fair value as deemed cost on the date of transition. The carrying value of land as on the date of
transition was X5,00,000. The land was acquired for a consideration of X5,00,000. However, the fair value of land
as on the date of transition was 8,00,000.

Issue 2: Under Ind AS, the Company has designated mutual funds as investments at fair value through profit or
loss. The value of mutual funds as per previous GAAP was X4,00,000 (at cost). However, the fair value of mutual
funds as on the date of transition was I5,00,000.

Issue 3: Company had taken a loan from another entity. The loan carries an interest rate of 7% and it had incurred
certain transaction costs while obtaining the same. It was carried at cost on its initial recognition. The principal
amount is to be repaid in equal instalments over the period of loan. Interest is also payable at each year end. The
fair value of loan as on the date of transition is ¥1,80,000 as against the carrying amount of loan which at present
equals X2,00,000.

Issue 4: The company has declared dividend of X30,000 for last financial year. On the date of transition, the
declared dividend has already been deducted by the accountant from the company’s ‘Reserves & Surplus’ and the
dividend payable has been grouped under ‘Provisions’. The dividend was only declared by board of directors at
that time and it was not approved in the annual general meeting of shareholders. However, subsequently when
the meeting was held it was ratified by the shareholders.

Issue 5: The company had acquired intangible assets as trademarks amounting to 32,50,000. The company
assumes to have indefinite life of these assets. The fair value of the intangible assets as on the date of transition
was %3,00,000. However, the company wants to carry the intangible assets at X2,50,000 only.

Issue 6: After consideration of possible effects as per Ind AS, the deferred tax impact is computed as X25,000.
This amount will further increase the portion of deferred tax liability. There is no requirement to carry out the
separate calculation of deferred tax on account of Ind AS adjustments.

Management wants to know the impact of Ind AS in the financial statements of company for its general
understanding.

Prepare Ind AS Impact Analysis Report (Extract) for HIM Limited for presentation to the management wherein
you are required to discuss the corresponding differences between Earlier IGAAP (AS) and Ind AS against each
identified issue for preparation of transition date balance sheet. Also pass journal entry for each issue.

Integrated Reporting

Question 33.

Does an integrated report need to be a stand-alone document?
Corporate Social Responsibility

Question 34

Whether a holding or subsidiary of a company fulfilling the criteria under section 135(1) has to comply with the
provisions of section 135, even if the holding or subsidiary itself does not fulfil the criteria?

Question 35

In financial year 20X1-20X2 a company had spent Rs. 2 crores in excess. In FY 20X2-20X3, it sets-off Rs. 50
lakhs from such excess. However, from FY 20X3-20X4, the company is no longer subject to CSR provisions
under section 135(1). Since the company cannot take the benefit of set off of excess amount spent in the previous
financial year because of non-applicability of CSR provisions, will the excess amount lapse?

Question 36.

Company A is incorporated during financial year 20X1-20X2, and as per eligibility criteria the company is covered
under section 135(1) for FY 20X3-20X4. Whether CSR provisions apply to a company that has not completed
the period of three financial years since its incorporation?
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